Mark-sheet Instruction
In the answer sheet for Q1-Q3 (single assignment questions) there are ten single-tick boxes (M1 to M11) and one double-tick box (M10). If the subject gives one tick, we use a single-tick box. If they give two ticks in the positions specified, we use the double-tick box. We can't interpret anything else.
In multiple assignments (Q4 onwards) there is more complexity. First, some of the models are decorated with S or Ss. Instead of just ticking the corresponding model column on the mark sheet, please put the S or Ss next to the tick. 
Second, some of the single-tick boxes give alternative models. In this case tick all of the alternative models on the mark sheet. Then, when you've marked all the questions, try to maximise the coherence of the subject's answers by inking in on of the pencil ticks on each row, so as to maximise the numbers in the summary row (labelled C0 on  the mark sheet).

Subjective marking is needed to decide what to do with not-entirely- blank scripts. At present we use the following rule:

Rule 1: A consistent response to Q1- Q3 (all the ticks in a single column or in two adjacent columns) can be considered non-blank, but if all we get is three ticks all over the place and nothing else, it's blank. If we could get consistent responses to all the double-assignments or the triple-assignments, then that was non-blank too.
Using joined columns; we can investigate four different levels of consistency in the rows that represent by labels C0, C1, C2 and C3.  Level C0 contents of the 11 single models and demonstrates the highest rate of consistency while sliding toward level C3 leads to lower rate and poorer sign of consistency. 

Level C1 contents of 4 columns that each is created by joining two adjacent models, logically carried common concepts. M1 and M2, M3 and M4, M5 and M6, M7 and M8. Each of these new columns logically approved Assignment, assigning value to the left or to the right. Level C2 contents 2 columns that each is created by joining 4 adjacent models, logically carried common concepts. M1 and M2 and M3 and M4, M5 and M6 and M7 and M8. Each of these new columns logically approved Assignment, assigning value to the left and to the right. Level C3 contents of a single column that created by joining 8 other models, logically carried common concepts. M1 and M2 and M3 and M4 and M5 and M6 and M7 and M8. The new column logically approved assignment.

Rule 2:  Any C level can be considered as subject’s level of consistency if:

Mode value in C level >= abs (no. of answered questions * 80%) and 

no. of answered questions >= abs (no. of questions * 80%) According to the above rule the subject in the sample is consistent in C1 level. This method creates around 20% flexibility in C level of subject’s that answered 80% of the questionnaire.
	Participant code
	Age
	Sex
	Time to do test
	Prior programming
	A-level’s 
	Prior programming courses
	Course result

	O01

	23
	F
	10/09/2005
	Java, VB6
	Chemistry, Maths, Physic, English
	Yes
	Pass


	Questions
	Assignment
	No effect
	Equal sign
	Swap values
	Remarks (including participants’ working notes)

	
	Assign-to-left
	Assign-to-right
	Add-Assign-to-left
	Add-Assign-to-right
	Values don't change     (M9)
/ S 
	Assign means equal (M10)
/ S 
	Swap values (M11)
/Ss / I
	

	
	Lose-value (M1)
/Ss / I
	Keep-value (M2)
/Ss / I
	Lose-value (M3)
/Ss / I
	Keep-value (M4)
/Ss / I
	Keep-value (M5)
/Ss / I
	Lose-value (M6)
/Ss / I
	Keep-value (M7)
/Ss / I
	Lose-value (M8)
/Ss / I
	
	
	
	

	1
	
	1
	
	
	
	
	
	
	
	
	
	

	2
	1
	
	
	
	
	
	
	
	
	
	
	

	3
	
	1 Ss
	
	
	
	
	
	
	
	
	
	

	4
	
	
	1Ss
	
	
	
	
	
	
	
	
	

	5
	1
	
	
	
	
	
	
	
	
	
	
	

	6
	
	
	
	
	1 Ss
	
	
	
	
	
	
	

	7
	
	1
	
	
	
	
	
	
	
	
	
	

	8
	1
	
	
	
	
	
	
	
	
	
	
	

	9
	1
	
	
	
	
	
	
	
	
	
	
	

	10
	
	1
	
	
	
	
	
	
	
	
	
	

	11
	
	
	1Ss
	
	
	
	
	
	
	
	
	

	12
	1
	
	
	
	
	
	
	
	
	
	
	

	C0
	5
	4
	2
	0
	1
	0
	0
	0
	0
	0
	0
	

	C1
	9
	2
	1
	0
	0
	

	C2
	11
	1
	
	

	C3
	12
	
	


A sample of Mark-sheet 
	Code
	O01
	O02
	O03
	O04
	O05
	O06
	O07

	Age
	23
	37
	39
	18
	35
	18
	38

	Sex
	f
	f
	m
	m
	f
	m
	m

	Programmed before
	yes
	yes
	no
	yes
	no
	yes
	yes

	Language
	Java, VB6
	Java, VB,.net
	VB
	C
	VB
	
	QBasic

	First prog course
	no
	no
	yes
	yes
	yes
	yes
	yes

	
	
	
	
	
	
	
	

	q1
	m2
	m2
	m2
	m2
	m9
	m2
	m5

	q2
	m1
	m2
	m2 
	m2
	m9
	m2 
	m11

	q3
	m2 Ss
	m2
	m2
	m2
	m9+1,2
	m2
	m5

	q4
	m3 Ss
	m2
	m2
	m2
	m9/m11+1,2
	m2
	m3+m7+m1Ss/m2Ss/m3Ss/m4Ss/m11Ss

	q5
	m1
	m2
	m2
	m2
	m9/m11/m11Ss+1,2
	m2
	m9/m11/m11Ss+m5

	q6
	m5 Ss
	m2/m2Ss
	20,20,20
	m2/m2Ss
	m9+1,2,3
	m2/m2Ss
	m3Ss+m9

	q7
	m2
	m2
	m2
	m2
	m9
	m2
	

	q8
	m1
	m2
	3,3,3
	m11
	m9+10,6,14
	m2
	m1Ss/m2Ss/m11Ss

	q9
	m1
	m2
	m2
	m2
	m9
	m2
	

	q10
	m2
	m2
	m2
	m2
	m9
	m2
	

	q11
	m3 Ss
	m2
	5,5,5
	m2
	m9
	m2
	

	q12
	m1
	m2
	7,7,7
	m2
	m9
	m2
	

	
	
	
	
	
	
	
	

	Result
	Pass
	Pass
	Pass
	Distinction
	Withdraw
	Pass
	Fail

	
	
	
	
	
	
	
	

	Consistent?
	
	
	
	
	
	
	

	C0
	no
	yes
	yes
	yes
	yes
	yes
	no

	C1
	yes
	
	
	
	
	
	no

	C2
	
	
	
	
	
	
	no

	C3
	
	
	
	
	
	
	no

	Why?
	m1x5 & m2x4


	m2 x 12
	m2 x 8
	m2 x 11
	m9 x 12
	m2 x 12
	


A sample of final spread-sheet 
And that, for the moment, is it. Apply to Saeed (s.dehnadi@mdx.ac.uk) and Richard (richard@bornat.me.uk) if you still need any 
help. Don't be embarrassed to do so: we need feedback to improve these instructions so that humans can use them.

